Corporate Finance – I

April 2023 Examination

1. You are helping a manufacturing firm decide whether it should invest in a new plant. The initial investment is expected to be Rs. 50 crores, and the plant is expected to generate after-tax cash flows of Rs. 5 crores for the next 20 years. An additional incremental investment of Rs. 20 crores will be needed to upgrade the plant in 10 years. If the discount rate is 10%, estimate the net present value of the project. (10 Marks)
Ans 1. 
Introduction  

NPV (net present value) can be defined as the distinction between cash inflows' current state and cash outflows' gift price over duration. The current internet price is used in investment capital budgeting to determine the profitability of a projected project or funding.  

Internet gift price calculations determine the current price of a destiny set of payments using the accurate discount rate. Tasks with a goal and favorable net present cost are worth undertaking, while those with a negative net current cost are not.  

The net present value for the time price of money can assist us in examining the rates of 
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2. Yellowstone Green Energy Ltd currently has 1.5 million common shares of stock outstanding and the stock has a beta of 1.2. It also has $ 10 million face value of bonds that have five years remaining to maturity and 7.5% coupon with semi-annual payments and are priced to yield 7.2%. If the company issues up to $ 2.5 million of new bonds, the bonds will be priced at par and have a yield of 7.2%; if it issues bonds beyond $ 2.5 million, the expected yield on the entire issue will be 8.4%. The company management

has learnt that it can issue new common stock at $ 10 a share. The current risk-free rate of interest is 4% and the expected market return is 11%. The company’s marginal tax rate is 25%. If the company raises $ 10 million of new capital while maintaining the same debt-to-equity ratio, what would be its weighted average cost of capital? (10 Marks)
Ans 2. 
Introduction  

WACC (weighted standard value of capital) states a company's average after-tax capital value concerning preferred stock, common stock, and other debentures. The weighted average cash cost is the rate a company forecasts to pay to finance its assets.  

The WACC is a standard way to calculate RRR (required charge of return) because it expresses, in one quantity, the return that each shareholder and bondholders demand to offer the firm with capital. An organization's WACC is likely more if its stock is relatively volatile 
3. Alphago Computing Ltd is expected to generate $ 2,500,000 in revenues and $ 750,000 in operating earnings next year. Currently, the company does not use debt financing and has assets of $ 5,000,000. Suppose the company were to change its capital structure, buying back $ 2,000,000 of stock and issuing $ 2,000,000 in debt. If we assume that interest on debt is 8% and income is taxed at 25%, what is the effect of debt financing on the company’s net income and return on equity if operating earnings may vary as much as 40% from expected earning operating earnings in following circumstances?

a. When the company has no debt, and (5 Marks)

Ans 3a. 
Introduction 

Debt financing is when a corporation increases cash for operating capital by selling debt instruments to institutional or individual traders. In return for lending the money, the institutions or people become lenders and receive a guarantee that the critical interest on capital could be repaid. The other way to raise funds in debt markets is to have difficulty 

b. When the company has debt to total assets = 50%. (5 Marks)
Ans 3b. 
Introduction 

A company's capital structure consists of debt and equity. The price of equity is the dividend bills to shareholders, and the price of debt is the interest price to bondholders. Whilst a firm issues debt, no longer only does it assure to repay the primary amount, but it also ensures to compensate its bondholders by making 

